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FOREWORD

The Zanzibar Examinations Council has prepared the Item Response Analysis Report for the
2023 Form Three Entrance Examination in Geography Subject. This report has been
prepared in order to provide feedback to students, teachers, parents, policy maker,
curriculum developers and other educational stakeholders about the performance of the
candidates in this subject.

Essentially, The Form Three Entrance Examination is the evaluation which intends to measure
to what the extent the candidates have learnt in their two years of Ordinary Secondary
Education. Through examination results, the candidates receive a grade that indicates their
level of performance which helps to make decisions whether they may continue to another
level of education or not.

The analysis presented in this report is intended to contribute towards the
understanding of possible reasons behind the candidates’ responses in Geography subject.
The report shows some of the reasons that made the candidates whether they perform well or
bad. The possible factors that include ability of identifying the task of the questions, skills for
responding to the question and adequate knowledge of the concept related to the topics.

The factors that may give the evidence to the candidates have perform badly like in ability
to identify the task of the questions, lack of skills for responding to the question, inadequate
knowledge of the concept related to the topics. Furthermore the candidates observed in poor
mastery of English language which hindering them from expressing themselves properly
especially in questions of section C.

The detailed analysis displays that, samples from the candidates” scripts to show good and
poor responses has been inserted. Finally, various figures with three different colours
which reveals how individual question was performed have been attached.

Hence, the feedback and recommendations provided in this report will enable various
stakeholders to take appropriate measure to enhance the performance of the future
candidates in Geography subject through the National Examinations prepared in
Zanzibar.

Finally, Zanzibar Examinations Council would like to express sincere appreciation to the
Examination officers and all who participated in the completion of this report.

Dr. RASHID A. MUKKI

DIRECTOR
ZANZIBAR EXAMINATIONS COUNCIL
ZANZIBAR




1.0 INTRODUCTION

This report on Geography subject is based on the analysis of the performance of the
candidates who sat for the Form Three Entrance Examination in 2023. This paper covered the
2010 Syllabus in Tanzania and adhered to 2015 Zanzibar Form Two Examination Format
of Zanzibar Examinations Council.

The examination paper consisted of three sections A, B and C. The candidates were required to
answer all questions in section A and B. Section A comprised question 1, 2, 3, 4 and 5 which
carried 10 marks each. The total marks for section A was fifty (50) marks. Section B had two (2)
qQuestions; question 6 and 7, each question carried 10 marks.

The total marks for section B was twenty (20) marks. Section C comprised question number 8,
9,10, 11 and 12. They were long (essay) questions, the candidates were required to select any
three questions. Each question carried ten (10) marks. The total marks of section C was
thirty (30).

2,0 SAMPLED CANDIDATES

The numbers of candidates who have been analyzed were 4,044 equal to 17. 34% to all
candidates (23,316) who sat for this paper. In this analysis, the candidates’ scores for each
question are interpreted as follows: from 00 to 29 percent is considered as poor, average if the
scores range from 30 to 64 percent and good if the candidates’ scorefrom 65 to 100 percent.

These performance are shown by using different coloured figure, table and appendix. The
colour presented are green colour means good performance, yellow colour means average
performance and red colour means for poor performance.

3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER QUESTION

This section identifies the questions set for candidates in sections A, B and C. Also it
identifies the percentage of candidates who attempted the questions with those who got poor,
average and good marks. Finally, the extracts of poor and good responses have been
inserted.

3.1 SECTION A: PHYSICAL AND MATHEMATICAL GEOGRAPHY

There were five (5) compulsory questions. Each question carried ten (10) marks, thus
making a total of fifty (50) marks. For convenience analysis of each section the following
performance range have been used. Candidate who scored from 0 to

2.5marks is considered as poor, from 3 to 6 marks is considered average and from 6.5 to 10
marks is considered as good performance.

3.1.1 Question 1: Multiple Choice Items

This question had ten (10) items. They derived from various topics of physical and practical
geography such as Branches of geography, Major features of continents,




Solar system, Map work, and Weather and climate.The following analysis shows detailed
information of each item in question 1.

In item (i), the candidate was required to identify the name of first person who use the word
geography from the following given alternatives. A: Erastotor, B: Eratosthenes, C:
Geographer and D: Newton.

In item (ii), the candidate was required to show the reason of people living in Jambiani and Kojani
see the sun earlier than Forodhani and Mkoani from given alternatives A: People in
Jambiani sleep longer, B: Earth rotates from East to West, C: The earth rotates from West to
East and D: There is no forest in Jambiani and Kojani.

In item (iii), the candidate was required tochoose a line which indicates areas
experiencing the same amount of rainfall among the following given alternatives. A: Isobars,
B: Isohyets, C: Isohytand D: Isotherm.

In item (iv), the candidateneeded to recognise the name of instrumentfound in the white
wooden box mounted on four legs which seen at Abeid Amani Karume International
Airportfrom the following alternatives A: Maximum and minimum thermometers, B: Rain
gauge and barometer, C: windsock and anemometer and D: wind vane and evaporimeter.

Initem (v), the candidate was required to mention heavenly body provides energy for drying
cloves and clothes during a day time by most people of Zanzibar from the given following
alternatives A: The Earth, B: Meteor, C: The Moon and D: The Sun.

In item (vi), the candidate was required to identify branch of Geography was taught by
Mr.Mmaru. He taught his students about the types and importance of volcanic
mountainsfrom given alternatives A: Environmental, B: Human and economic, C:
Physicaland D: Practical.

In item (vii), the candidate needed to show the bearing of Mr.Masumbuko from water tank
of village (ESE) from given alternatives. A: 0225°,B: 112.5°, C: 202.5° and D: 292.5°.

In item (viii), the candidate was required to identify type of rainfall occurs when warm
moist wind from the ocean is forced to rise up by mountain from the following given
alternatives. A: Convectional rainfall, B: Cyclonic rainfall, C: Frontal rainfall and D: Orographic
rainfall.

In item (ix), the candidate was required to identify method that could be used by Beru and
Kibomba to calculate area of Bondeni plantation from the following given alternatives. A:
Composite method, B: Cotton thread, C: Folded paper and D: Pair of divider.

In item (x), the candidate was required to prove on the statement said that‘Ferdinand Magellan
from 1519 to 1522 travelled from a certain point on the Earth surface by going straight but
eventually came back to the straight but eventually come back to the starting point” from the
following given alternatives. A: Movement of the earth, B: Rotation of the earth, C: Sphericity
of the earth and D: The size of the earth.




Generally the question aimed at assessing the candidate’s Remembering and
Understanding on the topics of physical and mathematical geography.

The question has been done by 4,036 equal to 99.80 percent and 8 candidates equal to 0.20
were not attempt the question. Table 1a below illustrates performance analysis of this
question.

Table 1a: Candidates’ Performance in Question 1

PERFORMANCE ANALYSIS | |
AVERAGE

3-6

NUMB %
ER

2357 58.4

The data of table 1a showed that a high percentage of performance is 58.40, which is in the
average level that led to a good general performance of 69.82 percent.

Similarly, 461 candidates equal to 11.42 percent have achieved good results. The
candidates seem to have a sufficient understanding of what was asked of them as seen in
extract 1.1

Extract 1.1: Good Extract
ANSWERS

I v ‘ Vv ‘ Vi | Vil l Vil IX ‘ X I

Extract 1.1 consists of sample from the script of candidate who provided good answers.
Such responses indicate that the candidate had good knowledge on subject matter and
understood well the requirements of the question.

On other hand 1,218 candidates equal to 30.18 percent have received poor results. The
candidates seem to have insufficient knowledge of what was asked for them as shown in
extract 1.2.




Extract 1.2: Poor Extract
ANSWERS
C [ [ [ [ v [ ovi [ ovii [ ol | ix | X

A 1B | N |C AERFEEENL

Extract 1.2 consists of sample from the script of candidate who provided incorrect responses.




3.1.2 Question 2: Matching Items

The candidate was required to match ten (10) items in list A with correct response in list B by
writing a letter of correct response in a space provided. The candidate wassupposed to
matchfrom number two (ii) to eleven (xi) in list A with correct response in list B, where
by number one (i) used as an example. List A contained map of Africa showing location of
water bodies while list B names of water bodies.

Generally the question aimed at assessing the candidate’s rememberingon the topics of
Major features of the earth’s surface.

The question was attempted by 4,022 equal to 99.45 percent and 22 candidates equal to
0.55 were not attempt the question. Table 1b below illustrates performance analysis of this
question.

Table 1b: Candidates’ Performance in Question 2

PERFORMANCE ANALYSIS | |
AVERAGE

3-6

NUMB %

627 55

The data of table 1b showed thata high percentage of performance analysis is 78.91, which is
poor that led general performance of 21.08 percent.The candidates seem to have insufficient
knowledge of what was asked of them.

Furthermore, 221 candidates equal to 5.49 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topic. They were able to match water
bodies in list A with their corresponding names in list B as it shown in extract 2.1.




Extract 2.1: Good Extract

2. Match the water bodies of Africa Indicated in List A with their names in List B by
writting the letter of the correct response beside the item number in the table below.
Number one (i) is an example.

LIST B

Aral Sea
Atlantic Ocean
Black Sea
Indian Ocean
Lake Albert
Lake Baikal
Lake Chad
Lake Kariba
Lake Nyasa
Lake Superior
Lake Tanganyika
Lake Turkana

. Lake Victoria

Mediterranean Sea
Red Sea

ANSWERS
[ LISTA B vi [ ovii [oviii | ix x [ xi
| 25T8 jrjoft m|d TRk ]€e]g[b]

Extract 2.1 shows a sample of response from the script of a candidate who had good
performance. This candidate managed well to match the items in list A with corresponding

responses in the list B.

On other hand, 3,174 candidates equal to 78.91 percent have received poor results. The
candidates seem to have inadequate knowledge of what was asked of them as seen inextract

2.2




Extract 2.2: Poor Extract
ANSWERS -
LISTA io[di i v v [ i ovii [ i ’ ix | x | xi

LISTB | n R “O ‘ "

Extract 2.2shows a sample of response from the script of a candidate who had poor
performance. The candidate failed to match the concepts in list A to their descriptions as indicated
in list B.

3.1.3 Question 3: True and False Items

This question had ten (10) items. They derived from various topics of physical and practical
geography such as branches of geography, major features of continents, movement of the
earth, components of amap, climate, element of weather, and parallel and meridian.

The question required the candidates to write T (True) for a correct and F (False) for an
incorrect from the following given statements.

i, Practical Geography is the study of natural features of the Earth’s surface.

ii.  Asia is the largest continent in the world.

iiil. ~ Equinoxes means equal length of day and night.

iv.  Grid squares method is used to calculate area of regular shaped figure on a map.
V. Thunderstorms are commonly in equatorial climate.

vi.  Isobars are lines drawn on a map to show precipitation

vi. ~ Deforestation, mining and casual burning are causes of environment
degradation.

viii. ~ The mountain Kilimanjaro is formed by volcanic eruption.

ix. ~ Both hygrometer and thermometer are element of weather.
X.  Equator divides the earth into two hemispheres.

Generally the question aimed at assessing the candidate’s Remembering and
Understanding on the topics of physical and practical geography.

The question was attempted by 4,036 equal to 99.80 percent and 8 candidates equal to
0.20 were not attempt the question. Table 1c below illustrates performance analysis of this
question.




Table 1c: Candidates’ Performance in Question 3

PERFORMANCE ANALYSIS |
AVERAGE GENERAL
3-6 ‘
NUMBER % | |
1,877 | 46.51 |

The data of table 1c showed that a high percentage of performance is 48.07, which is good that
led to a good general performance of 94.57 percent.

Moreover, 1,940 candidates equal to 48.07 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 3.1.

Extract 3.1: Good Extract

ANSWERS , A
L i i iV v Vi Vii Viii 1X X

& lez= |78 lw]lflx % | 17

Extract 3.1 shows a sample of response from the script of a candidate who had good
performance. This candidate seemed to have a wide knowledge on different topics of physical
and practical geography.

On other hand, 219 candidates equal to 5.42 percent have received poor results. The candidates
seem to have inadequate knowledge of what was asked for them as seen in extract 3.2

Extract 3.2: Poor Extract
ANSWERS i
i ii iii iv Y vi vii viii ix X

A 13 C ) > A A ) C C

Extract 3.2 shows a sample of response from the script of a candidate who had poor
performance. The candidate failed to indicate T for TRUE and F for FALSE statement. He used

letters A, B, C and D instead of T if the statement is true and F if the statement is false as
instructed.

3.1.4 Question 4: The solar system

The question is divided into three (3) parts, a, b, and c. The candidates were required to answer
all questions. In part (a), the candidates required to describe and draw Great cycles. In part
(b) to mention characteristics of the Great cycles. In part (c) to give reasons to ships and air
crafts use Great circles.




Generally the question aimed at assessing the candidate’s Remembering and
Understanding on the topic of parallels and meridians.

The question was attempted by 3,617 equal to 89.44 percent and 427 candidates equal to
10.56 were not attempt the question. Table 1d below illustrates performance analysis of this
question.

Table 1d: Candidates’ Performance in Question 4

PERFORMANCE ANALYSIS

AVERAGE GENERAL
3-6 PERFORMANCE
NUMBER %
219 6.05

The data of Table 1d showed that a high percentage of performance analysis is 91.24 which are
poor that led general performance of 8.76 percent.

Likewise, 98 candidates equal to 2.71 percentages have achieved good results. The candidates
seem to have a sufficient understanding of the topics as it shown in extract 4.1.




Extract 4.1: Good Extract

4. Answer the following questions in short.
a) With aids of diagram, describe Great circle.
s oY
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g
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b) l.Vlentionj three (3) characteristics of the Great circle.

i ; ‘
&y (/)"Ch;/ VIt Ve P LeICf  tirrie )
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Y"ﬂc s Loty z/-f;o/'f;lc

/70l o)
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W= aled L23E £l S

A
€ Give two (2) reasons why ships and air crafts use Great circle when
travelling
5 ﬁ CCOUre one@rF coclC  hele (o ik
Yariatioon S Olirev e
. 2 4
i LD cccessre  if belp €  loocxk  pacideoes
&8 e oo D Y qir crzctr
Extract 4.1 shows a sample of response from the script of a candidate who had good
performance. This candidate seemed to have a wide knowledge on topic of Great cycle and
understand demand of each part of question. Also, skill full enough on drawing diagram of
Great cycle.
On other hand, 3,300 candidates equal to 91.24 percent have received poor results. The
candidates seem to have inadequate knowledge of what was asked for them as seen in extract
42.
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Extract 4.2: Poor Extract

4. Answer the following questions in short.
a) With aids of diagram, describe Great ci[cle. J

"’]'{ J’(\Q}[l”' [ £ /7_f‘ G C// ‘,7P {_”f’C’.‘(_'
o) e Map ] Fas? Rpatea in
K/Cm;/(( (SN ¢ (,Z' )_(' (”{ \»‘7’)
/ o

b)  Mention three (3) characteristics of the Great circl
i "o 9}{? P}'eﬁ!?f’ﬂ? g/,r,c’e

SMe LE
== ' A
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"l /| O o/ o1 VAL F 77 -
i, 10 N S INE RAT] OA ([FUIL The Y1 [fE
A1
‘N (i/f u
3 /7"‘ T | ¢ -y T
iii. ¥ L [ ] h

Moy

c) Give two (2) reasons why ships and air crafts use Great circle when
travelling
| / A c
i_ / 4 U ;( ch /_E( /-’;_( o & ,/ :/‘};L" ¢ / '., la -
1 Al ¢ : 17, ] "f’ :
oM & dne Moy
o = : - - ; S
i 4 WA Gl MY o hYeCTen 5
Scanlt ‘

Extract 4.2 consist sample from the script of a candidate who provided incorrect response.
He/she was asked question about Great circle but his/her answer relay on agriculture and map
reading.

3.1.5 Question 5: Weather and climate

The question is divided into three (3) parts, a, b, and ¢. The candidates were required to study
weather statistical data for station B then answer all questions. In part (a), the candidates
required to calculate annual mean temperature of the station. In part

(b) the candidates required to identify (i) The hottest and (ii) The coldest months. In part (c) the
candidates required to use evidence from the given data and suggest type of climate at
station B.

Generally the question aimed at assessing the candidate’s Understanding and Applying
on the topic of weather and climate.

The question was attempted by 3,757 equal to 92.90 percent and 287 candidates equal to
7.10 were not attempt the question. Table le below illustrates performance analysis of this
question.
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Table le: Candidates’ Performance in Question 5

PERFORMANCE ANALYSIS | |
AVERAGE GENERAL
i ‘
NUMBER % | |
596 15.86 |

The data of Table 1e showed thata high percentage of performance analysis is 80.73 which are
poor that led general performance of 19.27 percent.

Likewise, 128 candidates equal to 3.41 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 5.1.

Extract 5.1: Good Extract

5.  Study carefully the weather statistical data for station B then answer questions that

follow.
| Month | 3 FM[AMJ‘J‘A{S\OTN D'
[Temp °C 29 | 28 | 27 | 27 | 27 | 26 | 26 [ 28 | 27 | 27 | 28 | 29

|

Rainfall (mm) | 2370 | 2070 | 2020 1720 | 1670 | 1720 | 1570 | 1470 1670[1775 2070‘2270

a) Calculate annual mean temperature of the station.
Soludion :
Aol mean =29 +98 +57 ¥+ 1196 136
428 2 T-+271 Y08 19
=224 = s °C
{2

Y Aooual mean demoreature. 1§ WA °C
b) From the given statistical data identify the following:

i.  The hottest months N .

T \nottedt moekhs are Deember and 'Yarw,urg

ii.  The coldest months — T .
_‘-\u-_ (dx\d-i'\' oS arp Sum (.anx L.LLLE ;

c) By using two (2) evidence from the data, suggest type of climate at station B.

e has  oean c&d&q\ rc»ﬂfge_ L’—\"r ﬁmprecdurg

= Q):C
Wl has  ARe \’CL-LF\.EZCL\L (-«% do0omend
awobe - : —
S e cumate ot the Q%O.ir 100
B % ‘\:.q ;L&qu-Lc‘kL climnade '
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Extract 5.1 shows a sample of response from the script of a candidate who had good
performance. This candidate seemed to have a wide knowledge on topic of weather and
climate, also understand demand of each part of question as seen below.

i) The candidate was capable to follow all procedures of finding mean in
individual data.

ii) Clear interpretation of statistical data on type of climate at station B.

On other hand, 3033 candidate equal to 80.73 percent have received poor results. The

candidate seem to have inadequate knowledge of what was asked for them as seen inextract
5.2

Extract 5.2: Poor Extract

5.  Study carefully the weather statistical data for station B then answer questions that

follow.
Month AL AR ENET R A G aE-
Temp °C 29 | 28 | 27 | 27 | 27 | 26 | 26 | 28 | 27 | 27 | 28 | 29
Rainfall (mm) | 2370 207olzozo 1720] 1670 | 1720 | 1570 | 1470 1670; 1775 | 2070 | 2270

a) Calculate annual mean temperature of the station.
gﬂuﬁm '
Aanuad mgon = 29 4+ LKA DI L A+ D &

@)
= 1 [fd = 9
Ga 3
S 398 *C =g
b) From the given statistical data identify the following:
i The hottest months
T\ﬁ'— hedHeol mewly are hure asd doby -
it.  The coldest months ‘
Tha &U\A&H wernkhe  ase Fj;xau-'vj aad Do conder

c) By using two (2) evidence from the data, suggest type of climate at station B.

\ Wot degerd & ocefun in an equates  whi tle @
_ Jwns gd dudyy
2) SAvamna  Dereet W eGuwr wWhen LLAI';L_‘ILC#;;

i'au.{l\_U enbideh  avre Qnuar L3 o k'i [_54_1; yuller
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Extract 5.2 consist sample from the script of a candidate who provided incorrect response.
For example in item (a) the candidate was unable to calculate annual mean of the
temperature by taking the value of the first six months instead of taking twelve months.

Also, initem (c) the candidate failed even to identify hottest and coldest months from the
given statistical data. The candidate wrote the hottest moths were June and July; the coldest
moths were January and December while the correct answer is vice versa.

3.2 SECTION B: MAP WORK

There were two (2) compulsory questions in this section. Each question carries 10 marks,
thus making a total of 20 marks. For convenience analysis of each section the following
performance range have beenused. Candidate who scored from 0to 2.5 marksare considered
as poor, from 3 to 6 marks are considered average and from 6.5 to 10 marks are considered as
good performance.

3.2.1 Question 6: Map Reading and Interpretation

The question asked the candidates to study the sketch map and then answer the
questions from part (a) to (c). Part (a) the candidate was required to calculate distance covered
by railway line. In part (b) candidate was required to identify types of transport depicted on a
given topographical map

In part (c) the candidate required to identify features found on the following location South East
of the map i) Grid reference 045545 and iii) Grid reference 06153.

Generally the questionaimed at assessing the candidate’s Understanding and Applying
on the topic of map work.

The question was attempted by 3,941 equal to 97. 45 percent and 103 candidates equal to
2.55 were not attempt the question. Table 2a below illustrates performance analysis of this
question.

Table 2a: Candidates’ Performance in Question 6

PERFORMANCE ANALYSIS GENERAL
AVERAGE PERFORMANCE
3-6
NUMBER % NUMBER %
1,397 35.45 1,690 42.88

The data of Table 2a showed that a high percentage of performance analysis is 57.12 which are
poor but led general performance of 42.88 percent which is average.

Similarly, 293 candidates equal to 7.43 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 6.1.

14



Extract 6.1; Good Extract

6.  Study the map carefully and answer the questions that follow.
__SONGAMBELE
o S« R ‘ 5 ¢ o3 09
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a) Calculate the distance covered by railway line.

_ Scluehon i
-2al way ung  cower=13'Sem| X= 0 5km
-~ Sealg. ‘—} " HD, 000 - lcm =0 Bkm

__lem =100,000cm eSem = %
%X =50,000cm X =12 Bem X 0 rSkm
% =50, 000eMm x|km e
|DD 0DOCM : dugtonce. = 6:95 km -
b)  With examples, identify three (3) types of transport depicted on a given

topographical map.

. Fead "'\TUWSDCF\: E&QmP\D. mad 10
e mao

i. _~loder hcm&cﬁt Examnlg Roww Lay,
mz.( ZCLLLLILQL l

i, _AAc —HODS(\JOrt : EXCLmPLQ mr‘poxﬂ\z

¢) Identify features found on the following location.
i.  South East of the map K eko 410\’28'\' resSene.

ii. Grid reference 045545 m&m e

iil.  Grid reference 061539 \"\ QSQH'CLL ,

Extract 6.1 above shows that, a candidate who performed well. This candidate had adequate
knowledge and skills on map work so that could be able to respond on all parts in this question.
Although part 6a) was difficult question than all items since it involve application of
mathematical calculation.

On other hand, 2,251 candidates equal to 57.11 percent have received poor results. The
candidates seem to have insufficient knowledge of what was asked for them as shown in
extract 6.2.
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Extract 6.2: Poor Extract

a)

b)

©)

Extract 6.2 shows a sample of a response froma candidate who provided poor response.
This candidate had little knowledge on the topics of map work. For example in item 6b
the candidate wrote means of transport instead oftypes of transport depicted onthe map.

Calculate the distance covered by railway line.

Sare = /2 = &

—

/Tt// J’Zlmm_ 7

_?
/a/C‘/ /qzm/r 7+ 5

14 Luare

With examples, identify three (3) types of transport depicted on a given
topographical map.

i vty Water )"‘:&*9_ ’\ﬁm‘:&\c&

i, Weso. Reaad ,imm\%u‘t

. : Nranginfe

Identify features found on the following location.
i South East of the map

ii. Grid reference 045545 _H_K(.\ﬁcc.\.

Y )
iii. Grid reference 061539 amn ) o mry

3.2.2 Question 7: Map work

The question is divided into three (3) parts a, b, and c. The candidate was required to answer all
questions. In part (a), define position in map work.Part (b), to mention ways that used to show

position of ittems on a map and part (c) outline uses of map in adaily life.

Generally the question aimed at assessing the candidate’s Remembering and

Understanding onthe topic of map work.

The question was attempted by 4,042 equal to 99.95 percent and 2 candidates equal to
0.05 were not attempt the question. Table 2b below illustrates performance analysis of this

question.
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Table 2b: Candidates’ Performance in Question 7

PERFORMANCE ANALYSIS GENERAL
AVERAGE PERFORMANCE
3-6
NUMBER % NUMBER %
933 23.09 1,710 42.31

The data of table 2b showed that a high percentage of performance analysis is 57.69 which is
poor hut led general performance of 42.31 percent which is average.

In addition to that, 777 candidates equal to 19.22 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 7.1.

Extract 7.1; Good Extract

7. a) Define position in map work.

PCXUA(‘M u g M('(. ¢ L exg on (‘1",[,;\4 Ii"'\/
4 —T
W) T Wap
T
b) Mention three (3) ways that used to show positior of items on a map.
i 9rd e ne
i. Lot £encle are| [ongatud,
ii. Compond Eeprie
c) Outline four (4) uses of map in a daily life.
i gy o (TR, e Tl accciraplycal _ foud =ity
1 1 | 1 3 J
Cot Ve R Cr Seind
ii. | Ylap U e L tHee 7 mntdan, wne  andf
« \ _,'v
“GAUen A€ ¢ —f < Hoit “Agower ey
J
1‘ ot = = - Fx 1
jii. 4 —"[, (4 Uiocy <louceng boundanet © o play
un a eocanyy or sl DA
iv | r o A0 24 ¢ !'.'.",-{ | ol Ceckef s pecy (.-1(."/
T
it 2l

Extract 7.1 above shows sample of a candidate with good performance. This candidate
had full knowledge and skills on map work especially on position of map work and uses of
map in a daily life.

On other hand, 2,332 candidates equal to 57.69 percent have received poor results. The
candidates seem to have insufficient knowledge of what was asked for them as seen in extract
1.2,

18



Extract .2: Poor Extract

7. a) Define position in map work. :
Wy L Mo reeeey nbiaHm A Hio ' eoudh

S CLCD
\

b) Mention three (3) ways that used to show position of items on a map.
i /\ \'H—(o

. |
. <ol

)
jii. Sca [

L. &

¢) Outline four (4) uses of map in a daily life.

v i X
I _k\@_)‘-’ 32 1 L3 Wseq X’« Suana Cam PG dS
i
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0
’ \ -
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v, Gl Mo p "_),M_fu‘gf L);: cli{& .‘11 | / 4’ I4 'V\,‘
\ T
i pa sy Q@ !EI'] i u_‘\_".ui “ AL haimo ¢f Mok -
3 1 T

Extract 7.2 shows example of candidate’s response with poor performance. This candidate
had little knowledge on the topics of map work. For example initem 6a the candidate was
tried to define map instead of map work. Also in item 6b wrote components of map instead
of ways used to show position on a map.

3.3SECTION C: HUMAN AND ECONOMIC GEOGRAPHY

In this section, there were five questions. The candidates were required to choose any three
(3) questions; each carried ten (10) marks, thus marking total of thirty (30) marks. For
convenience of analysis of each question, the following performance ranges have been
used. Candidate scores from 0 to 2.5 marks is considered as poor, from 3 to 5.5 marks is
considered as an average and from 6 to 10 marks is considered as good performance.

3.3.1 Question 8: Sustainable mining

The question was derived from the topic of production of natural gas in Tanzania. The
candidate required to analyze reasons which led delaying of gas exploitation at Songosongo
in Tanzania.

Generally the question aimed at assessing the candidate’s Analysis on the topic of
sustainable mining.
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The question was attempted by 860 equal to 21.27 percent and 3,184 candidates equal to
78.73 were not attempt the question. Table 3a below illustrates performance analysis of this
question.

Table 3a: Candidates’ Performance in Question 8

PERFORMANCE ANALYSIS | |
AVERAGE | GENERAL

36
NUMBER | %

90 10.46 | | \ \|

The data of table 3a showed that a high percentage of performance analysis is 79.18 which are
poor that led general performance of 20.81 percent.

Furthermore, 89 candidates equal to 10.35 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 8.1.
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Extract 8.1: Good Extract
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Extract 8.1 shows asample of candidate who scored high marks. The candidate had meet
demand of the question due to;

i) The candidate able to provide good introduction of question.

ii) Capable to identify and analyze reasons led to delaying of gas exploitation at
Songosongo in Tanzania.

iii) Manage to write conclusion with suggestion to government.

On other hand, 681 candidates equal to 79.19 percent have received poor results. The
candidates seem to have insufficient knowledge of what was asked for them as seen in extract
8.2
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Extract 8.2: Poor Extract
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Extract 8.2 shows a sample of candidate who scored poorly. The candidates has been able to
follow the rules for writing essay questions but could not get a mark because he wrote types
and causes of pollution instead of reasons which led delaying of gas exploitation at
Songosongo in Tanzania.

3.3.2 Question 9: Transport

The question was derived from the topic of problems facing the transport in East Africa.
The candidate required to discuss limiting factors that hinder the development of air transport in
East Africa.

Generally the question aimed at assessing the candidate’s Evaluation on the topic of
transport.

The question was attempted by 2,827 equal to 69.91 percent and 1,217 candidates equal to
30.09 were not attempt the question. Table 3b below illustrates performance analysis of this
question.

Table 3b: Candidates’ Performance in Question 9

PERFORMANCE ANALYSIS
AVERAGE GENERAL

3-6 PERFORMANCE

NUMBER %
304 10.76

The data of table 3b showed that a high percentage of performance analysis is 81.50 which are
poor that led general performance of 18.50 percent.

Additionally, 219 candidates equal to 7.74 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 9.1.
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Extract 9.1: Good Extract

qg.

A& Yraasgort s e Yea e or dsanspe b which,
woNLe \Qne, nsemMnermt (QX..: ?@:@\e. %\\;m onee g_ag%:me\Cmb
aka » anotfrce geodtaghieal aseo. AR aug N aur
Wl Bk Welg oy jekes acloeY and ccwmmonlnc
ases accmplane- the YAPE o IwargeerY & © aula e
& \one. disteince. hience @ muddy afpedted \op wenler
d/@k\'\?\fé—’ \ﬂCon(\eQ&{I\ \D—\QKC’\* i ege. ase mudtf ob\\@«
hWidler s deu o pen= : .

Lcu:k: ) enu%&\ cagrall b establsh QOOQD
s and v have Geod Servmees: Bence, W d need)
\eney precess (o orlec o eskalish X el Lol o come
_Lle}'e and 0 ot oF devedopiagd. comdna. wuda as

lanzania e government does adk have. enougda
money 1o mole k wsell and b addr all egaiced
el Cces-

Lacle of speciliased and educalted \abwur to
wos e e on -t conneakhion to Yoo \eel ar ccience.
and \—ed)\\\cb\m\gs.« Degte Rk most o tae con Yo
whidy are deotlonna dogdaay oo Yy Jippecent
Pane Qevm digte®nt coualon bk Yie® ace o
nan Q&mp\e/ 2w as eduoaed) vL\b\S,Gﬁ- hetless
oo can wore LeRer w Yie ot as B suppoct o
be dene be cause gf oo \enel o saemce asdabadeyy -

(E( \“Pm\“xck_ues sudh as gorte -Mest ox Ree

decdloping, counsies (oW mmade bu dee
! ¥ usna, smoalll areas  whexe
b ey Plane coanct B o Mo} orta-whicia
L&\ e Ypunst Yo po¥x oSy RaX axal LSRN
many pant because Kie ark & aor ckle ko cecernve
ooy fane-

A \%\x%ouernmenBV Suepory « e goussamment
Yacadk ack base n cupporhing & Ras seeest Seohxe
=o M‘ﬁ* cos A€, Y AL aad  La (\O)j et
%mu& devlopmneny dwARe PeoPe-

> LUt LR O SRS ' \cnove e
Arans for T & ot devdmponent W Mie o
s aevss nmen sSondldl Shae T auges Tt and
we. oo ahordd  shadied asd  so \Rark wne
o com € An Ooieh AE P\O0E wWere s s PR
and) devSSoment o ehd.

(‘Jo(\—s_ w

Extract 9.1 shows a sample of candidate who scored high marks. The candidate has sufficient
understanding of the question due to;
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i) The candidate has been able to answer the question by using the essay writing
procedures.

ii) Capable to identify and discuss limiting factors that hinder the
development of air transport in East Africa.

iii) Manage to write conclusion with suggestion to government and his fellow
candidates.

On other hand, majority of candidates 2,304 equal to 81.50 percent have scored poor
results. The candidates seem to have insufficient knowledge of what was asked for them as
seen in extract 9.2,

Extract 9.2: Poor Extract
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Extract 9.2 shows a sample of candidate who scored poorly.The candidates has been able
to follow the rules for writing essay questions but could not get a mark because he wrote
problems of air transport instead of limiting factors that hinder the development of air
transport in East Africa.

3.3.3 Question 10: Human activities

The question was derived from the topic of human activities. The candidate required to
describe environmental problems associated with human activities.
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Generally the question aimed at assessing the candidate Evaluation level on the topic
human activities.

The question was attempted by 2,939 equal to 72.68 percent and 1,105 candidates equal to
27.32 were not attempt the question. Table 3c below illustrates performance analysis of this
question.

Table 3c: Candidates’ Performance in Question 10

PERFORMANCE ANALYSIS GENERAL
AVERAGE PERFORMANCE
3-6
NUMBER % NUMBER %
474 16.13 959 32.63

The data of table 3c showed that a high percentage of performance analysis is 67.37 which are
poor but led general performance of 32.63 percent which is average.

In addition to that, 485 candidates equal to 16.50 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 10.1.
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Extract 10.1: Good Extract
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Extract 10.1 shows a sample of candidate who scored high marks. The candidate has sufficient

understanding of the question due to;
)

procedures.

The candidate has been able to answer the question by using the essay writing
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ii) Able to describe environmental problems associated with the human activities.
iii) Manage to write conclusion with suggestion to the community.

On other hand, majority of candidates 1,980 equal to 67.37 percent have scored poor
results. The candidates seem to have insufficient knowledge of what was asked for them as

shown in extract 10.2.

Extract 10.2: Poor Extract
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Extract 10.2 shows a sample of candidate who scored poorly. The candidates has beenable
to follow the rules for writing essay questions but could not get a mark because he wrote

importance of small scale agriculture instead of means to improve small scale agriculture.

3.3.4 Question 11: Agriculture

The question was derived from the topic of ways of improving small scale agriculture. The
question required candidate to educate Mpeso grandfather ways of improving
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his farming system whose once complain his neighbor and relatives were the source of poor
production.

Generally the question aimed at assessing the candidate’s Creativeon the topic of
agriculture.

The question was attempted by 1,859 equal to 45.97 percent and 2,185 candidates equal to
54.03 were not attempt the question. Table 3d below illustrates performance analysis of this
question.

Table 3d: Candidates’ Performance in Question 11

PERFORMANCE ANALYSIS \

|

AVERAGE | GENERAL
36
NUMBER % \ \| \
358 19.27 | |

The data of figure 12 showed that a high percentage of performance analysis is 71.11 which are
poor that led general performance of 28.89 percent.

Moreover, 179 candidates equal to 9.62 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 11.1.
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Extract 11.1: Good Extract
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Extract 11.1 shows a sample of candidate who scored high marks. The candidate has sufficient
understanding of the question due to;

i) The candidate has been able to answer the question by using the essay writing
procedures.

ii) Capable to educate Mpeso grandfather on improving his cultivation.

On other hand, 1,322 candidates equal to 71.11 percent have scored poor results. The
candidates seem to have insufficient knowledge of what was asked for them as seen in

extractl1.2.
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Extract 11.2: Poor Extract
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Extract 11.2 shows a sample of candidate who scored poorly. The candidates has beenable
to follow the rules for writing essay questions but could not get a mark because he wrote
problems of air transport instead of limiting factors that hinder the development of air

transport in East Africa.

Extract 11.2 shows a sample of candidate who scored poorly. This candidate had no
knowledge on the demand of the question. The candidate has been able to follow the rules
for writing essay questions but could not get a mark because he wrote factors to improve
human activities instead of environmental problems associated with these activities.

3.3.5 Question 12: Water management for economic development

The question was derived from the topic of water pollution. The candidate required to
comments on ways which water undergoes pollution in Africa.

Generally the question aimed at assessing the candidate’s Evaluation on the topic of

transport.
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The question was attempted by 1,425 equal to 35.24 percent and 2,619 candidates equal to
64.76 were not attempt the question. Table 3e below illustrates performance analysis of this
question.

Table 3e: Candidates’ Performance in Question 12

PERFORMANCE ANALYSIS | |
AVERAGE GENERAL

56
NUMBER %

108 7.58 | | \ \|

The data of table 3e showed that a high percentage of performance analysis is 85.89 which are
poor that led general performance of 14.11 percent.

Moreover, 93 candidates equal to 6.53 percentages have achieved good results. The
candidates seem to have a sufficient understanding of the topics as it shown in extract 12.1.
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Extract 12.1 shows a sample of candidate who scored high marks. The candidate has sufficient
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understanding of the question due to;

i)
i)

i)

On other hand, 1,224 candidates equal to 85.89 percent have scored poor results. The
candidates seem to have insufficient knowledge of what was asked for them as seen in extract

12.2.

The candidate has been able to answer the question by using the essay writing

procedures.
Succeed to comments on ways which water undergoes pollution in Africa.

Manage to write conclusion by showing negative impact of water

pollution.
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Extract 12.2: Poor Extract
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Extract 12.2 shows a sample of candidate who scored poorly. The candidates has beenable
to follow the rules for writing essay questions but could not get a mark because he wrote
ways of removing pollutant from water instead of ways which water undergoes pollution.
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4,0 CONCLUSION

The analysis of the candidates’ performance shows that there are two questions which
were well performed, three questions have average performance and seven questions have
poor performance.

Generally, the quality of candidates’ responses was affected by the following factors; in ability
to identify the demand of the questions, deficiency of skills for responding to the question and
adequate knowledge of the concept related to the topics. Furthermore, the candidates
observed to have poor mastery of English language which hindering them from expressing
themselves properly especially in questions of section C.

It is expected that the feedback provided in this report will enable teachers, students and other
stakeholders to take appropriate measures to improve the teaching and learning of
Geography subject in Zanzibar Secondary Schools

5.0 RECOMENDANTIONS
In order to improve the performance of the candidates, it is recommended that:

a) Teachers are emphasized to cover the entire topics of Form One and Form Two in
order to make sure that the examined candidates are knowledgeable in all specified
areas according to the syllabus.

b) Candidates should be encouraged to use English language in their school
environment in order to improve their language skills.

¢) Candidate should be directed on how to identify the task requirement of the question
so as to be aware of the responses they are required to provide.

d) Practical activities should be emphasized in different topics such as
topographical map so as to improve candidate’s skills of observing, writing,
measurement, calculating and recoding.

e) Study tour should be incorporated in teaching and learning so as to improve candidate
capability of transfer and application of knowledge to their real life.

f)  The teachers should provide more classroom exercises to the candidates in order to
be prepared them for National Examination
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APPENDICES

APPENDIX 1
SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC WISE IN 2023

QUESTION PERCENTAGES OF
SIN: TOPIC CANDIDATES PER REMARK
NUMBER QUESTION

Branches of geography, Major features of
1 continents, Solar system, Movement of the
earth, Map workandWeather and climate.

Branches of geography, Major features
2 of continents, Solar system, Map work,
andWeather and climate.

Map work 6 42.88 Average

Map work 7 42.31 Average
Human activities 10 32.63 Average

Agriculture

Major features of the earth’s surface

Sustainable mining

V|| N | M| W

Weather and climate

_
o

Transport

Water management for economic devel-
opment

_
—

-
N

Solar system
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APPENDIX 11
SUMMARY OF CANDIDATES’ PERFORMANCE PER QUESTION AND TOPIC WISE IN

2022
QUESTION PERCENTAGES OF
SIN: TOPIC CANDIDATES PER REMARK
NUMBER QUESTION
Solar system, Sustainable mining, climate,
1 Major features of the earth’s surface and
map work,
Solar system, weather and climate, Major
2 features of the earth’s surface and map
work,
3 Map work 6 53.80 Average
4 Map work 7 50.05 Average
5 Major features of the earth’s surface 4 31.38 Average
6 Solar system 5 29.90 Average
7 Manufacturing industry
8 Sustainable use of forest resources
9 Tourism
10 | Major features of the earth’s surface
11 | Agriculture
12 Water management for economic devel-
opment
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